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1. “Many mail servers use the
Care called POP servers,
-

l'_(ja) Post Office Protocol
t(B) Poslback Offer Protocol
f{g) Ping Office Protocol

(D) Paop Out Protocol

—_ and

2. Smaller elevation on some Portion of the crown

produced by an extra formation of €name|
(A) Tubercle (B) Cingulum
(C) Ridges (D) Lobe

3. Theadministration of the Urban Estates set up
by the Haryana Urban DeuelopmentAulhority
(HUDA) are chiefly looked after by
(A) Zonal Administrators '

(B) Estate Officers
(C) Chief Administrators
(D) Chairman

Identify the methods of insulin administration.

(A) Subcutaneous injection with syringe

(B) Insulin pen

(C) Continuous subcutaneous insulin
infusion with a battery operated insulin
pump

(D) All of the above

The Kuna Mound and the Banawali Mound
are found in which of the following districts in
Haryana ?

(A) Fatehabad
(C) Nuh

(B) Rewari
(D) Palwal

Indicator colour is controlled by
of the solution.
(A) pOH
(C) pka

(B) pkb
(D) pH

On the surface of g magnetic disk,

occurs when a file is stored in non—conh‘f;uous
sectors on the disk's surface,

(A) Framing (B) Blocking
© Fragmentation (D) Filling
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8. Who among the
below awarded
Award 2020 ?
(A) Rohit Sharma
(B) Virat Kohli
(C) Rishabh Pant
(D) None of the above

fol_[owing cricketer given
Rajiv Gandhi Khel Ratna

9. Interms of area, Haryana is the

largest State of India,
(A) 20m (B) 25
(C) 22n (D) 21»

10. fTrg; e prom tteﬁtl'llI derive their name

minent, well-d

teeth in the family. S seNsiaped cormer
(A) Incisors ¢B) Canine
(C) Premolar (D) Molar

A1,

Apposition of denta| hard tissues occurs at
(A) Cap stage

(B) Early bell stage

(C) Advanced bell stage

(D) Bud stage

12. The average of 6 numbers is x and the
average of three of these is y. If the average
of the remaining three is z, then
(A) x=y+2z (B) 2x=y +z
(C) x=2y + 2z (D) None of these

Identify the correct step in the Production of

a Digital Radiograph.

(A) The sensor, direct or indirect is
encased in a aluminium sleeve held
in a sensor holder and placed in the
patient's mouth.

(B) The sensor, direct or indirect is
encased in a plastic sleeve held in
a sensor holder and placed in the

patient's mouth,

(C) The sensor, direct or indirect is
encased in an iron sleeve held in
a sensor holder and placed in the
patient's mouth.

(D) The sensor, direct or indirect is
encased in a copper sleeve held in
a sensor holder and placed in the

patient's mouth.
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15.

16.

17.

18.

19.

20.

21.

22,

A

This dance is performed in Haryana on the | 44, I8 I3 shmon 1 % & F 83 R
sixth day of the birth of a male child. What is ;
i Known as'? SE | R Am A s g ?
(A) Gangore (B) Chaupaiya (A) TR (B) "'mm
(C) Chhathi (D) Saang (C) Bfs (D) |
The Revolt by Raja Ajeet Singh led to 16. Tn swfta R & e & wwor eiamn &
the annexation of which of the following Frefeiea # & fora feman = faem gan 7
principalities in Haryana ? A) STETET (B) ¥TEaT -
(A) Ambala (B) Ladwa (A)
(C) Halahar (D) Kaithal (C) TTER (D) Fua
Tobacco users may be poorly nourished | 16. eI SEMTeRal Fuifia B &, Hife g F
because tobacco use T BT |
(A) Increases appetite (A) @ =1 =g
(B) Decreases appetite (B) 8@ =1 He-1
(C) Maintain good appetite (C) H&l @ = ﬁlﬁw
(D) None of the above (D) SR T & F 7ef
In a 100 m race, A covers the distance in A7, 100 H AT, A 36 aﬁa‘gﬁ 3R B 45 A
36 seconds and B in 45 seconds. In this ] HFFFA A d A, BRI R D
race A beats B by TWars ?
(A) 20m (B) 25m (A) 20 (B) 25
(C) 22.5m (D) 9m (C) 22.51t (D) o#i
Approximately 60% to 70% of dietary A8, A F GRERE 1 @ 60% / 70%
phosphorus is absorbed in the W araiifea faan < 21
(A) Duodenum (B) Jejunum (A) g™ (B) S
(C) lleum (D) Caecum (C) 3feram (D) di=n
The Agro-climatic Zonal Research Centre of | 49, & 1 FN-Teag Aty IIgEIR *=
the Eastern Zone is located in which district Rt iffal?
of Haryana ? . -
(A) Ambala (B) Kamal NEEIS] ~(B) mﬂﬁ'a ¢
(C) Sonipat (D) Rohtak (C) Bt (D) Q. uf
Who is the founder of dental hygiene ? 20. < T TN B § 7 o
(A) Per-Ingvar Branemark (A) W-W"a“m‘i‘ 57
(B) Wilhelm Conrad Roentgen (B) ﬁ_ﬁqm":@? }‘4“# %
(C) Dr. Alfred C. Fones AC) o1, whs |, wi e
(D) Ambrose Pare (D) TH R
Ais the son of B. C, B's sisterhasason D | 21, BﬂgA%lBﬁWC%maﬁD??
and a daughter E. F is the maternal uncle of HWERIF, DHF UM % | F & fra wdiSt & 7 "
D. How many nephews does F have ? (A) T (B) TF p
(C) Two (D) Three AC) iy ”
The difference between the squares of two | 22, amﬁﬂﬂ‘mﬁ%aﬁﬁ mm
consecutive odd integers is always divisible by ‘éﬁﬂlﬁﬁéﬂ“l = e
% (B) 6 TERSS ) () 2120 O
© 7 — (D) 8
(D) 8 P
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23,  Which river originates from Champasar
Glacier ?

(A) Ghaggar
(C) Yamuna

(B) Saraswati
(D) Markanda

24, Which of the following districts in Haryana
does not share its boundary with another

State ?
(A) Charkhi Dadri (B) Kamal
(C) Fatehabad (D) Rewari

25.  Which of the following is not true about

Panchkula district of Haryana ?

(A) It was formed as the 17* district of
Haryana

(B) Pinjore is part of Panchkula

(C) The district is devoid of any perennial
river

(D) The district lies in the region were there
have been no earthquakes

26. Two infinitely long parallel wires carry equal
currents in same direction. The magnetic field
at a mid point in between the two wires is
(A) Square of the magnetic field produced

due to each of the wires
(B) Half of the magnetic field produced due

15/2019 (1)
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30. Consider the following statements.

Statement A : Flood plains formed by
Ghaggar river in Haryana is called Nelii.
Statement B - Flood plains formed by
Markanda river in Haryana is called Ghar.
Choose the correct option from below :

(A) Statement A is correct; Statement B is
incorrect

(B) Statement A is incorrect; Statement B
is correct

(C) Statement A and Statement B are
correct

(D) Statement A and Statement B are
incorrect

31, The Kallanai dam, the oldest and still-in-use

reservoir in India is built across which of the
following rivers ?
(A) Cauvery

" (C) Krishna

(B) Tungabhadra
(D) None of the above

32. Alumina porcelain was developed by

J. W. McLean and T H. Hughes in the year
(A) 1865 (B) 1955
(C) 1965 (D) 1985

33. was the well-known natural
antimalarial.
(A) Primaquine

<(C) Quinine

(B) Pamaquin
(D) Proguanil
34. Deciduous Dentition Period

(A) Below 6 months

(B) 6 months to 6 years

(C) 6to 12 years

(D) 12 years and beyond

35. Hard avascular tissue that covers the roots
of teeth
(A) Dentin (B) Pulp
AC) Cementum (D) Enamel

38.  Number of lobes in Anterior tooth
(A) 1, B) 2
© 3 (D) 4

3
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37. Ther.e' are a total of 20 teeth in the primary
dentition, 10 in each jaw. Each jaw has
(A) 2 incisors, 4 canines and 4 molars
(B) 4 incisors, 4 canines and 2 molars
(C) 4 incisors, 2 canines and 4 molars
(D) 2 incisors, 2 canines and 6 molars

38. Arch traits distinguish

(A) Teeth in the primary dentition from the
permanent dentition

(B) Fou_r classes of teeth, namely-incisors,
canines, premolars and molars

(C) Teeth within one class

(D) Maxillary from mandibular teeth

39. The set of instructions given to the computer
to perform various operations is called

(A) Data output

(B) Computer program

(C) Sofiware

(D) Big data

40. Arrange the given words in the alphabetical

order and choose that comes last.

AA) Actuate e) Acs':umulate
(C) Acquit (D) Achieve
41. The mean of 50 observations was 36. It was
found later thatan observation 48 was wrongly
taken as 23. The corrected new mean is
(A) 35.2 (B) 36.1
~(C) 36.5 (D) 391
42. , commonly referred to as tooth
decay, is one of the most common of all
diseases. .
(A) CleftLip - 4B) _Der}tal caries
(C) Gingivitis (D) Periodontitis
43. At least of the body's calcium is
found in the skeleton and teeth.
(A) 40% (B) 60%
L(C) 80% (D) 99%
44, Theword computer is derived from the word
‘compute’ which means
(B) Decode

(A) Solve

(C) Interpret ~(D) Cal‘culate

15/2019 (1)
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45, Where is the Indo-Israel Horticulture Project | 45, sq-Sorrfet ST wheiter i # i
established in Haryana ? ' WA 7
(A) Gharaunda (B) Ganaur (A) wifar ~B) TR
(C) Uchhamajra (D) Gurugram (C) I=BHHT (D) T
46. ﬁfterwhich tnr:alj;or event didthe British merge |  46. @ =1t e 3 e o7t 3 e ) 3
aryana with Punjab after removing it from ofEerdfl wia @ ger o T IEHT e
the north western province ? oy mE;m 3 L L
(A) Independence, 1947 (A) T, 1947
(B) 1857 Revolt /{B) 1857 El?lﬁ'@'ﬁ'
(C) Reorganisation of Punjab, 1965 (C) ‘iﬂﬁﬁraqﬁaq 1965
(D) None of the above (D) :Wéfﬁl 73 FrE T
47. A B,C, D, E, Fand G aresitingon awall | 47. AB,C,D, E Fatg
and all of them are facing east. C is on the T mﬁﬁ‘l‘;ﬁr{?ﬁﬁaﬂtw
immediate right of D. B is at the extreme end ¥ | B 3 NN D & izl ikt
and has E as his neighbor. G is between E Hﬁﬁﬁaéaﬂrm:mqﬁ ERI
and F. D is sitting third from the south end, G, E3NFHdie D, Zf&m SR & dretzam
Who is sitting to the right of E ? WAAR | EFeisamdmd?
(A) A (B) C (A) A (B) C 5. ,'P- b
+C) D (D) G (© D (D) G D
48. What is meant by Betre Khadar or Naili in | 48, eRammia emaddmamadgd? T
Haryana ? (A) tefrem Yirm %,_,
(A) Sandy desert Qe Y
(B) Rocky mountains ' (8) S ha "jg
(C) Delta (C) s x ¢
(D) Narrow Low-lying flood plains (D) Tehrol Fieret gt & g o6 B C
49. Who is the present Governor of Reserve 49, VIR e 5% (RBI) F e TR EH E ? ¢3
Bank of India (RBI) ? (A) e iy Y
(A) Gita Gopinath AB) 3 B [
(B) Urjit Patel o) TR T >
(C) Shaktikanta Das (C) DS
(D) None of the above (D) 37Ut & &/ i e
. T § feffes o=t
50. The Nuh district was carved out of which of | 50- gﬁlﬁ & ; #4 fom
the following districts in Haryana ? PRI ST 77 o ¢ §
i. Gurugram i. eI !
ii. Rewari i, Yaret s
iii. Faridabad iii, HEEIG D
iv. Palwal — iv. Jedded-
Choose the correct answer : e I T . : iﬁ\'{ s
() Onlyi (B) i and i (A) FaT AGIgRT
(©) 4, iii and iv (D) Onlyii (C) i, i 3T iv JAY
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51.

52,

53.

54.

55.

56.

57.
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Why was Rania principality of Haryana 51, whamm € ol R .
annexed by the British East India Company ? ' T .:% forer for 7 w & Hfem
(A) Incapability o'f Ra.ni Rafﬂ Kaur (A) T T ) aem
(B) Revolt by Raja Ajeet Singh (B) T 37sia fiw 2 Rigre
(C) Death of Rani Chand Kaur (C) T =g ﬁﬁﬂ
(D) Revolt by Nawab Jabit Khan (D) TaTe Sifad @F g faee
Which of the following principalities in Haryana | 52, sfw@mn %ﬁﬂﬁﬁf‘?ﬂ T g form famaa 3 1857
supported the British during the 1857 Revolt ? & TasTe & 2w i &1 ame fom 7
(A) Jind (B) Panipat (A) iz (B) WHHTTa
(C) Bahadurgarh (D) Dujana (C) =TRIgUTe (D) gl
Tipra hills is located north of which river in 53. fevn wmifeat sfemon @ @ F 5w F
Haryana ? femd?
(A) Ghaggar  (B) Yamuna (A) TR (B) AT _
(C) Markanda (D) Saraswati Chotang (C) Tz (D) T B
Relationships are formed between the primary |  54. Tt %FE A d‘j Feg iR TH AT
key field in one table and the corresponding frerdamEuTae, @ _ =m
field in another, called the R |
(A) Candidate key  (B) Foreign key (A) FHizZe H (B) tﬁﬁﬂzﬁf‘
(C) Primary key (D) Super key (C) wrEHi ) ¥
. TRamnaTE e AT ad 1058 el R R
This lake was bullt under the supervision e |5 108 T S
of Le Corbusier in 1958 in Haryana. it was i R ?
declared as a National Wetland in 1988. ﬁ’ﬁaﬁmmm \ TR el B ®
Where is this lake locat?g)?K I (A) TG (B) Twam
A) Chandigarh ool HHITETS D) FAA
((0; Faridabad (D) Karnal ©) ( .
) . ; ct ? 56. FECEd A A - FHETAS 7
Which of the following statement i corre _ R
(A) Non-glass-based ceramics are (A) Fa ziitiﬁ\as@mmvﬁ%m
non-crystalline based with no glass Tew m@%ﬁ;@ |
matrix. (B) = e T = o Wi F Foig
(B) Non-glass-based ceramics are FAELE ® |
crystalline-based with gla.!ss matrix. © e i i = 6w
(C) Non-glass-based ceran'.ucs are - e AR AR E |
non-crystalline-based with glass matrix. (D) e W it i 3 W 3 foen
ics are e
® Nonﬁ:-a Ssiab:s?: ;:;a :; glass matrix. FUig SR A B ¢ |
alline- . 3
o health care | 57. =l m%ﬁﬁ\@ R L
s thaig . aetiaent is to B H R a A |
rovider's first obligation to the p B B)
do not harm. Beneficence (A) (D‘] aw
(A) Non-maleficence (B) Be (C) T

(C) Autonomy (D) Paternalism

9-
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59,

60.

61.

62.

The torque acting on a body is the rotational
analogue of
(A) Mass of the body

(B) Linear kinetic energy of the body
(C) Linear velocity of the body
(D) Force in linear motion

Long depression or valley on the occlusal
surface of the posterior teeth, the inclines of
which meet at an angle

(A) Fossae

(B) Sulcus
(C) Developmental Grooves
(D) None of the above

anesthetics are the most

frequently used drugs for dental and dental
hygiene treatment.

(A) Local

(B) General

(C) Spinal

(D) None of the above

Which of the following statement is correct ?

(A) Dental caries is a non-infectious,
transmissible disease and it is
preventable.

(B) Dental caries is an infectious,
transmissible disease and it is also
preventable.

(C) Dental caries is a non-infectious,
transmissible disease and it is
non-preventable.

(D) Dental caries is an infectious,
non-transmissible disease and it is
non-preventable.

Criteria to be met to establish an exposure

as a risk factor '

(A) Exposure must precede the onset of
disease or heaith condition.

(B) Exposure must covary with the
frequency of the disease or health
condition.

(C) Observed association must not be due
to bias or error in sample selection,
measurement or data analysis.

(D) Al of the above

-10-

1 A T BT € |
(A) T =1 s

B) T = W vias =i
(C) T i s

(D) Rerep ifer F =T

15/2019 (1)

58. frfifmMFEd sE s

et 204 & w0u g W R faw a1 g
s goma & 0 W e 8

(A) HiE

(B) T

(C) Fererranen: 7z

(D) JTH H & H e

O e ol o 6 e
oISt < o et s S et sy 2 |

(A) Tnfies
(B) AW
(C) Tl
(D) Wi 1 A A T

1. PRiEaiyTA-MFATER ?

(A) = W@ﬂtwha,wﬁai’m%

SR VFIM TR |

(B)a'am@émﬂﬂﬂ,dwﬂﬂfrﬁﬁft

JFam A R |
(C) &4 &4 T T HFmviy,
UFIH AT TR |

ot U 3R

(D)'éamqquia?mﬁﬂ,'?\'{‘éﬁtﬁﬂ'ﬂﬁﬂ%

i e T T ®

1

62. U SREW 1 % T § T WU i T

0 3 For B ST W
(A) S T e e R AR R |
(B) St Bt avrafir o e Rt %
g weff T =R |
(C) TR e T 1 T
<&, WA S R R AR

(D) I |+t



.

67.

68.

63. The prosthesis is rinsed under

(A) Running water
(B) Stagnant water
(C) Chemicals
(D) Reagents

64. Traditional film-based systems to record
radiographic images have been in existence

in dentistry since
(A) 1985 (B) 1835
(C) 1895 (D) 1795

Nutrients obtained from foods are the
following

(A) Water

(B) Proteins and carbohydrates

(C) Fats, minerals and vitamins

(D) All of the above

65.

66. \What are Mawath rains in Haryana ?

(A) The rain that occurs during the
monsoon seasan
(B) The rain that occurs due to westem
disturbances
(C) The rain that occurs only in the
afternoon
(D) Convectional rainfall that occurs at
different times of the year
Collection of programs which utilize and
enhance the capability of the hardware
(A) Monitor (B) Mouse

(C) Software (D) Printer

Match the following provinces of
Chandraguptha Maurya given in List—A
with their headquarters /capitals given in

List—B.

List—A List-B
a. Prachya 1. Avanti
b. Dakshinapatha 2. Taxila

3. Suvarnagir
4. Pataliputra

¢. Uttarapatha

d. Paschimapatha
(A) a—3,b-—1,c-4,d—2
(B) 3_4,b-3,c-2,d;-1
(C) a—2,b—3,c—1,d-—4
(D) a—4,b-2,¢c-1,d=3
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64,

65.

et
- -
a. Ur=A 1. A
b. <oy 2. EEN
c. ITEA 3. GEOTR
4. aPray 4, TRTAT

(A) a-3,b-1,c-4,d-2
(B) a—4,b-3,¢-2,d-1
(C) a-2,b-3,c-1,d-4

(D) a—4,b-2,c-1,d-3
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69. The Roz-ka-Meo industrial estate of
Haryana is located in

(A) Faridabad
(C) Sonipat

(B) Manesar
(D) Gurugram

70. The Khokrakot sites are associated with which

of the following districts in Haryana ?
(A) Rohtak (B) Yamunanagar
(C) Sonipat (D) Panchkula

71. How many wetlands are recognised under the

National Wetlands Conservation Program in
Haryana ?
(A) 3
(C) 2

(B) 4
D) 1

72. |dentify the Private Practice Methodology.

(A) Takes survey or makes observations
about a population

(B) Identifies chief complaint
(C) Conducts literature review

(D) Develops research question or
hypothesis
73. The power to prescribe the number of
judges in the Supreme Court of India is
vested in
(A) The President of India
(B) The Parliament
(C) The Chief justice of India
(D) The Law Commission

Excessive levels of calcium in the blood is
known as )

(A) Hypercalcemia
(C) Hypernatremia

74.

(B) Hypocalcemia
(D) Hyperkalemia

examines one population group
or subset with a common characteristic overa
specified time period to measure the change
or progress of a disease or condition.

(B) Cohort study

75.

(A) Case series

(C) Statistics (D) Case study

69.

70.

71.

72

73.

74.

75.
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76.

7.

78,

79.

80.

81.

82.

Microcomputers are generally referred to as
(A) Personal computers

(B) Analog computers

(C) Super computers

(D) Mainframe computers

This lake is located at Thanesar of Haryana.
It is also mentioned in Kitab-ul-Hind. Identify
the lake.

(A) Badkhal lake

(B) Surajkund lake

(C) Brahmasarovar lake

(D) Sannihit sarovar lake

The association called “India House" at
London was established by

(A) V. D. Savarkar

(B) Hardayal

(C) Madan Lal Dhingra
(D) Shyamiji Krishnavarma

Breeding of fish in specially constructed tanks

and ponds is called as

(A) Pisciculture

(B) Aquaculture

(C) Sericulture

(D) None of the above

is the number of new cases of

a disease in a population overa given period

of time.
(A) Incidence

(C) Freguency
Primary memory is also known as
(A) External memory

(B) Pen drive

(C) Internal memory
(D) Secondary memory

(B) Prevalence
(D) None of these

are the largest and most

powerful computers.
(A) Super Computer
(B) Minicomputer

(C) Micro Computer

1512019 (1)
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(D) Personal Computer
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gnotish Language

he following

4:int
, 83 snd £ choose the

a [irnatives,
n.uﬁfm iy four -
pstors. O :n substituted for the given wot o
wrich ©

hat whach cannol be delpated.

”\Ly Ipvincible

(c) Indictable
(D) pone of the abovo

g4. Onewho studies the art of gardening.
' (A] Archealogist

(C) Gardenef

(D) Botanist

85 In the following question, an idiomatic
expression/a proverb has been given, fn!lm.-._-ed
by some allernatives. Choose the ane which

best expresses the meaning of the given
idiom/proverb.

To get into hol waters.

(A} To be impatient

(B) To suffer a huge financial loss

C) To get into trouble
(D) To be in a confused state of mind

In the following question, choose the word
opposie in meaning to the given word,
MAGNANIMOUS
(A) Selfish
\N Naive
{C) Generous
(D) Smal

86.

(

8. TP g AT

(C) Avam
(D) %94 & rf 77

8. (".."Ymfmmemarat?
N\ T o

(B) T3t fae

(C) F=E

(D) 79 3 a0d 37

(C) 7R

\!D} 2
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